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(Human and Environment

Interaction : Anthropogenic
activities and their lmpacts
on environment)




Which of the following is an ozone depleting
substance? /fFfefiga ¥ ¥ & - W Tk

AT AT &IT0T T aTeTm uere 87

(a) Sulphur dioxide/SeH ST337a]
) Methyl chloride/™arEet FAEE

128

(b
(¢) Carbon dioxide/®IeH SRATFIZS
(

d) Methane/Ht&
TA UGC NET/JRF June 2021(20-11

-2021 Shift-1)
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Which of the following is an ozone depleting

substance? /frAfafigs o ¥ &9 - W TH

3T T G T AT UTd 87

(a) Sulphur dioxide/T7H R3TFIZE

(b) Methyl chloride/ R FaEe

(c) Carbon dioxide/Fa SE3FEE

(d) Methane/HiZ
TA UGC NET/JRF June 2021(20-11-2021 Shift-I)
Ans. (b)CaﬁTrﬂ'rl B0]) 98 agHved § gt F 3 —
T & 4R R ga @ ¥ @ e s FRon st
F6 FEH 71 TN G e a1 TuraiE uae 3
HYHAT & FRO 3 THE TG Fod AR YA & W
e AR e PR A AT A




What is the correct sequence of prescribed
limits in residential areas of 24 hourly averaged
following pollutants by Central Pollution
Control Board of India?/ YR & &= yguu

forearor are g fafefiae yguet & smardiy
o W 24 HE % AN W et T A &g
ferifta dramsn & 9t @ww &= 87

(a) PM 25 (b) PM 10

(¢) SOx (d) Pb

Choose the correct answer from the options
given below :/ et e ™ fament # % a0
IUYTH I T AT diford—

(a) Pb>SOx > PM10>PM 2.5
(b) PM10>PM 2.5 > SOx > Pb
(¢) PM 2.5>PM10 > Pb > SOx
(d) PM10 > SOx > PM 2.5 > Pb
NTA UGC NET/JRF June 2021(05-01-2022 Shift-I)
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What is the correct sequence of prescribed
limits in residential areas of 24 hourly averaged
following pollutants by Central Pollution
Control Board of India?/ e & hwsia Feuum

Pt a1 gT At YEua a1 A
& W 24 U o AMUN W et T i &g
et dwmst o wEr e @@ 872

(a) PM 2.5 (b) PM 10

(¢) SOx (d) Pb

Choose the correct answer from the options
given below :/ et foar & famewt o % e
JUYTH I BT AT ditord—

(a) Pb>SOx >PM10>PM 2.5
(b) PM10 > PM 2.5 > SOx > Pb
(c). PM 2.5 > PM10 > Pb > SOx
PM10 > SOx > PM 2.5 > Pb_
NTA UGC NET/JRF June 2021(05-01-2022 Shift-I1)

Ans. (d) : National Air Quality Index Report by(central

ofution :

AQI PM;, |PM,s INO, |0, (‘.Ogm SO, |NH; |Pb
ategory 24 24 M4 gm’) 24 24 |4

(Range) hour |hour |hour (hour |8 hour |hour |hour (hour
Good (0 =]0-50 [0-30 [0-40 J0-50 [0-1.0 0-40 [0~ [0.05 [Dark
) = 200 green
Satisfactory [S1-  [31-60 W1~ [SI- |1.1-2.0 1~ [201- [0.6- |light
(51 =100) (100 180 {100 80 H00 (1.0 [green
Moderate  [101- |61-90 ®1- |101- [2.1-10 [81- W01-|1.1- [Yello
(101 -200) 250 180 |68 380 (800 20w
Poor 251- [91-  [I81- [169- [10.1- |381- [801- [2.1- |[Orang
(201 -300) PS5O (120 [280 [208 |17 800 [1200 3.0 |e
Very Poor  [351- [121- [281- R09- [17.1- (801~ {1201 ]3.1- |Red
(301 -400) M30 250 MO0 [748 [34 1600 |- [3.85
Severe 430+ [250+ |00+ |748+ [34+ 1600 {1800 [3.5+ [Maroo
(401 - 500) vk n
arg e H Tel HTHA 8:-

PM,, > SO,>PM 2.5 > Pb 31d: faaed (D) ¥ 2|




Which of the following is perceived relatively a
low rise problem in the context of human

welfare?/ frafefiga & 9 I U FHET &
dew # wnfie w0 ¥ &0 SRaw are wHe
& BU W THSAT AT 87
(a) Radionuclhdes

feargdf ifiaa w01 (feargfaaesy)

(b) Airborne toxins
gt fatet werd (warar zffera)

(¢) Stratospheric  ozone depletion/@W@?ﬂ'q
TS &R0 (R e feweivm)

(d) Habaitat alteration and destruction
HEW Wadd wd foam (#fade ety ug
ferzam)

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




Which of the following is perceived relatively a
low rise problem in the context of human

welfare?/ Frafeifigd & 9 &9 UHa HedmT &
Had o Wufie B W & ARG arel T
& WU W WA T 87

.\/(Aﬂ Radionuclides
Heamedf Tfii o (mﬂm)

(b) Airborne toxins
e fate gard (Tara i)

(c) Stratospheric ozone  depletion/& TSI
IS &7 (LI 3 fewedvm)

(d) Habitat alteration and destruction
HaW TR wd foa (2fede sty U
fergaem)

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)

NTA UGC NET/JRF June 2021(04-12-2021 Shift-1)

Ks. (a)y Tearepdl Afvdia 301 1 A Fem & §2
H O 9 9 &9 SifGn drel qeen & 9§

9 21




Given below are two statements

Hrer gt wa= fau o €

Statement I: Toxic chemicals often injure
organs as well as organ systems

waa-1 : fader @as agar i a 31T yurreft
@t B 9g=Ta &

Statement II: Hepatotoxins are chemicals that
can damage kidneys

HAA-11 : gUSEHaaT 98 WA & 0 TSl ohl
arfer Ug=I Wehat ¥
In light of the above statements, choose the

most appropriate answer form the options
given below

IUUTh HAAT ok 3Terah |0, Hror fau o faewear

ﬁﬁuﬁwmmaﬁ'ﬁq-

(a) Both Statement and Statement II are
correct/shd- 1 Bﬁ'{ 11 S 9t %

(b) Both Statement I and Statement Il are
incorrect/ 99 1 3 11 1 Tod &

(c) Statement I 1s correct but Statement II 1s
incorrect/ a9 1 T&l &, ferg 11 7re1a g

(d) Statement I 1s incorrect but Statement II is
correct/ HFT 1 e B ﬁa_«j, Il e @

’



Given below are two statements
rer St = fau T €:

Statement I: Toxic chemicals often injure
organs as well as organ systems

-1 : fader T sgen o o i gt
i g Tg=Td €

Statement II: Hepatotoxins are chemicals that
can damage Kidneys -

HAA-11 : USSR a8 TWEa- § & &l &l
afd agem @ahar g L
In light of the above statements, choose the

most appropriate answer form the options
given below

IUHTH HUAT o AT |, Hor fau u fawmeat
W o TEt 3T HT AT AU
(a) Both Statement I and Statement II are

correct/&I 1 AR 11 a1 2| %

(b) Both Statement I\and S'tatement Il are
incorrect/ F4 1 AR 11 a1 Tod &

c) Statement I 1s correct but Statement II i1s
incorrect/ HI9 1 Tl 2, fh=q 11 7Tota &
(d) Statement I is incorrect but Statement II is

correct/ HI | Tad &, foheq 11 9 €

Ans. (c) : fa¥el THTET SgYT 3 @ 3 YOTEht @ JHAH
AN ¢ 791 QU a8 TR & S & F e
T W 31 3 YER FU | T a4 FF 11 36 8
aﬁ:m(c)aﬁél




According to Urie Bronfenbrenner's biological
model of human development, microsystem
constitutes ;

A. Immediate family B. School

C. Beliefs D. Customs

E. Neighbourhood

Choose the correct answer from the options
given below:

it FiheT & uea fawE & Sfaw arse
o TN AT e dafea et g:

A. Trerean uftar B. feramt ugfa

C. 3Treer D. fifa-Rars

E. gfeast

Fror fou 7o faeeat § O WE 3WT @ w9
Ffu:

(a) A, Band Eonlymﬁ A, B 3R E

(b) A, B and C only/&ad A, B 3R C

(c) A, C and E only/@ad A, C 3R E

(d) C, D and E only /&d@ C, D 3R E

NTA UGC NET/JRF June 202](26-1‘-202] Slﬁft-l)
N———




According to Urie Bronfenbrenner's biological
model of human development, microsystem
constitutes

A. Immediate family ./ B. School

C. Beliefs D. Customs

E. Neighbourhoag””

Choose the correct answer from the options
given below:

Tt SR & AEa faea & Sfas afge

¥ AR genyTTeh freT dufd e &
A. fraean uftaw B. fo=mt wgfa
C. 3T D. fifa-frars
E. wfaaer

Hrer fau v faeedt @ @ wWE I @ wEe
wife:
(a) A, Band E only/&ad A_B 3 E v
(b) A,Band C only/aﬁ'ﬂ A B 3R C
(c) A,Cand E only/%aﬁ A C 3R E
(d) C, D and E only /&a@ C, D 3R E
NTA UGC NET/JRF June 2021(26-11-2021 Shift-1)

Ans.(a):{ﬂm%qﬂaﬁm%ﬁﬁ?ﬁlﬁgﬁ%
FTAR fpedd ufar, foar veft ud sfeaw ame fawm
F Y99 Td WY &9 9 I9fad Fd 81 adEei $R
UMd iaq & Sifas Aied W argl &6 GdeaT THEd
§ Ued 2d & 31 3% 39 Sifdd Hied & YeH STl

§ fihean oftar, foem vefd w@ sfmEw @ wE dHes
& ®q § @ foar mar 2
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Which of the following features are indicative
of the negative social rather than physical
aspects of environment?

fr=ifera @ @ @=-dt favwad watawor &
oiferes Ueli W 31fireh 39k AoRITcHeh QAT
Ul W Hehddh &7

(i) Habitats in slums./Afciq sfiadi & am-wm—

(1) Contlict and clashes in groups.

el & Tod 3R Feh
(111) Frustration ' glnd anxiety manifest 1In
groups./FEl § 31 3R I e BT 8

(1v) Aggression and threats manifest in groups
IR HdeR H hhdl 3R e T8 8id &

Choose the most appropriate answer from

the options given below:/ Hrer feu @
fararcat § | W&l IT T AA RiTAT:

(a) (i) and (ii) only/&ae (i) 3 (ii)

(b) (ii) and (iii) only/&ae (ii) 3R (iii)

(¢) (ii) and (iv) only./&ae (i) 3R (iv)

(d) (iii) and (iv) only/&ad (iii) 3 (iv)

NTA UGC NET/JRF June 2021(22-11-2021 Shift-I1)




Which of the following features are indicative
of the negative social rather than physical
aspects of environment?

frmifee & @ @-d favwand afawor &
wiferes Uall W 3t 39k [T [ATHTSE
Tl H Hohddh 27
(i) Habitats in slums./Afe @@t & amg-wm=

(11) Conflict and clashes in groups.

el & gud 3 e
(1) Frustration . glnd anxiety manifest 1n
groups./Fel # F31 HR AT Fhe Bl &

(1v) Aggression and threats manifest in groups
TR HagR  3THAHA AR @l WP A &
Choose the most appropriate answer from
the options given below:/ Hrer feu @
faseal § ¥ W&l 3T &1 99 ditau:

(a) (i) and (ii) only/&ad (i) 3 (ii)

(b) (ii) and (iii) only/&aa (ii) 3R (iii)

(& Tii) and (iv) only./Fd (ii) 3R (iv)

(d) (1) and (1v) only@aﬁ (111) HNR (1v)

NTA UGC NET/JRF June 2021(22-11-2021 Shift-I1)

Ans. (¢) : TG0 & e G& ¥ A 39F TS
A T Tehds @ UH 98 Jefafad ¢

(1) T981 & o ud ey

(2) W8 HaER § WA Td TR WY A 2|




65. The global environmental issue of Ozone
depletion is due to emission of:

A & &l dfyer qatavuita awen faas
IS & T &7

(A) Sulphur dioxide/Ft®hT AR G 22| A

(B) Chlorinated hydrocarbons

FANIH gIggIahTa
(C) Methane/Htar=
(D) Carbon dioxide/@Ta= 8T8 3aAES
Choose the most appropriate answer from the
options given below:/ #ret feu 7w famwewt & @
Tad IUGH @ AT HITAT;
(a) (A) and (B) only/&ad (A) 3R (B)
(b) (B) only/#de (B)
(¢c) (B)and (D)only/%ﬁﬁ (B) R (D)
(d) (A), (B) and (C) only/&aa (A), (B) 3R (C)
NTA UGF NET/JRF Juntz 2021(22-11-2021 Shift—l)l




6S. The global environmental issue of Ozone
depletion is due to emission of:

I o & Afyger Tatawuiia quen fads
IeH & R §?

(A) Sulphur dioxide/He®HT AEE |G 22|

(B) Chlorinated hydrocarbons
FAR T FEgrehTe

(C) Methane/dta=

(D) Carbon dioxide/a&Ta= T8 ifauTZE

Choose the most appro |ate answer from the
options given below:/ i

Had IUYTH H TG a&\ﬁq
(2) (A)and (B) only/&ae (A) 3R (B)
7 (B) only/?w'ﬁa (B)
(¢) (BYand (D) only/Fad (B) 3 (D)
(d) (A), (B)and (C) only/ﬁﬂ (A), (B) 3R (C)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)

=l

Ans.  (b) @aﬂaﬁa‘fﬁ‘whruﬂam
TG FAFAN F, g, ]
ﬂﬂﬂm@hﬁtﬁ O 3|

a8 = ==
Easy Notes 4u l —
Online Study * -
= uf
iz e




Which of the following i1s most effectively
promoted by Globalisation among the
societies?

frefefias § @9 91 Te0 gUR WA § Ta9g
WU ¥ asfretur g wafkia feram T @1 &7

(a) Monocultural values/Thd H]@f?l?ﬁ 7

(b) Multicultural values/d& HiEHfdd qed

(c) Regionalisation/@ﬁw

(d) Self centredness/3TeH-ahf+5T

NTA UGC NET/JRF June 2021(20-11-2021 Shift-I1)




Which of the following is most effectivelyl
promoted by Globalisation among the

societies?

forferiiga o @i 1 g gAR TS W wdsy
®U A eftewr 39 dafa fa 1 @ 82

(a) Monocultural values/Tdhd H@ﬁ% &
(b) Multicultural values/aﬁ Qi e /
(¢) Regionalisation/ &
(d) Self centredness/31TH- -Ffeg
NTA UGC NET/JRF June 2021(20-11-2021 Shift-11)

Aus. (b) : % SGE T & TR G 5 FIAE &
3 M 7 Haf o 1 @ 21 o e (b) T @




Assertion (A) : Mankind’s interaction with
Earth has led to a highly complex and diverse
ecosystem to an increasingly degraded
environment.

ARTHIT (A) : WG A UHhT & T 3
Foeaia 3 urifterfaes-a &l
3ir oft Samer WO ardrerT o gRafda & fear g

Reason (R) : Many of the changes taking place
in Earth’s environment are irreversible.

HA (R) ; ERAT & aATATER0T § g W@ AAE
uftad rufiad-a g

In the light of the above statements, Choose the

most appropriate answer from the options
given below:

IUTIh HAAT & AT |, e fau Tu fasmeat
T ¥ WE I @ A R :

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)./(A) R (R) 3

T & 3R (R), (A) 31 TE e 2

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)./(A) 3R (R) @i

T €, dfdd (R), (A) 31 Tl ARG T 2
(c) (A) istru; but (R) 1s false. \
(A) 9 &, &fd (R) 319 B
(d) (A)1s i‘alse\bul (R) 1s true. \
(A) 3 2, wfod (R)S 2
NTA UGC NET/JRF June 2021(20-11-2021 Shift-I1)
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Assertion (A) : Mankind’s interaction with
Earth has led to a highly complex and diverse
ecosystem to an increasingly degraded
environment.

AR (A) : HHTAT I YHa & 3= A
Foaata i fafauamgt afiftafas-dr @@
3ir oft Samer WU arare # uRafda & fear g

Reason (R) : Many of the changes taking place
in Earth’s environment are irreversible.

HA (R) ; ERAT & aATATER0T § g W@ AAE
uftad rufiad-a g
In the light of the above statements, Choose the

most appropriate answer from the options
given below: _

(a) Both (A) and (R) are true and (R) 1s the
correct explanatlon of (A)./(A) 3R (R) AL

T & 3N (R), (A) F e 0@ 2

(b) Both (A) and (R) are true but (R ) i1s NOT the
correct explanation of (A)./(A) 3R (R) &M

79 g, %(R),(A)ﬁaﬁmaﬁ%
(c) (A) istru; but (R) 1s false. \
(A) & &, oifed (R) 3974 &
(d) (A)1s false\bul (R) 1s true. \
(A) 39 2, dfehd (R)TH 2
NTA UGC NET/JRF June 2021(20-11-2021 Shift-I1)

A, 0) (A) F(R) 39 7 90 (R), (0) & 0

W%lmﬁw a)wél




Which of the following pollutants have adverse
implications for human health as well as
climate change?

A. Nitrogen dioxide

B. Particulate matter (PM 2.5)

C. Ozone

D. Methane

E. Nitrous oxide

Choose the correct answer from the options
given below:

frefafiaa & 9 o yguant &1 gfager gama
TS & WA 3 wearg uiada ol ugdr #7
A. TSI STE3TaaTsS

B. UMY uarel (PM,.s)

C. 3=

D. Hia=T

(a) (B), (C) and (D) only/&ad (B), (C) 3R (D)
(b) (A), (B), and (C) only/ Had (A), (B) 3R (C)
(¢) (B) and (D) only/ ad (B) 3R (D)

(d) (B) and (C) only/ &ad (B) 3R (C)

TA UGC NET/JRF June 2021(20-11-2021 Shift-I)
A4




Which of the following pollutants have adverse FUMER qe1d (di L) M I (03)
implications for human health as well as H@Eﬁ & Hﬁ-ﬁ,ﬂ BRIC RG] & W 3R ufigdq

. 0 ——— A - .
% Nitroges dhexide . R TSN 2| FOER G FIET HY A A F0
B. Particul:itj‘ll;atter G’M 2.5) &l a'u'h Eﬁﬁ Ed f%m fepan S %' Gﬁﬁqﬁl&_’ma,‘ﬁ'saa,
C. Ozone A e & T3 & & arAl 3R
D. Methane S E’ @ra . . %
E. Nitrous oxide UM &1 ||3§1| A IS (yox) Wﬁ'ﬁ
Choose the correct answer from the options qrg Hfaferar 2l

given below:
frefafiga ¥ & o uguant &t gfage gua
IS & @R 3 Jeraryg uierd o ugdr 87
A. TS SEATTFATES
B. HUT&RT uared (PM,5)
C. 3T
D. HraT
E.AT3SH 3Tadss
(a) (B), (C) and (D) only/&ae (B), (C) 3R (D)
(b) (A), (B), and (C) only/ &ad (A), (B) 3R (C)
(¢) (B)and (D) only/ &dd (B) 3R (D)
(d) (B) and (C) only/ &ad (B) 3R (C) /

TA UGC NET/JRF June 2021(20-11-2021 Shift-I)




The abbreviation NMSHE, in the context of
Climate Action Plan of Govt. of India, Stands for

R QI Sl Qaquiia &id are=r & dad
o NMSHE fr=fafiaa o o feraent daarer g7

(a) National Mission on Solar-Hydro Energy
(b) National Mission on Sustaining Himalayan

Ecosystem

(¢) National Mission on Sustainable Hydrogen
Energy

(d) National Mission on Survey of Himalayan
Ecosystem

I'A UGC NET/JRF June 2021(20-11-2021 Shift-I)
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The abbreviation NMSHE, in the context of
Climate Actlon Plan of Govt. of India, Stands for

i & A & Hew
ST il

(a) National Mission on Solar-Hydro Energy
\91) National Mission on Sustaining Himalayan
Ecosystem
(c) National Mission on Sustainable Hydrogen
Energy
(d) National Mission on Survey of Himalayan
Ecosystem
IA UGC NET/JRF June 2021(20-11-2021 Shift-1)

Ans. (b) : NMSHE &T 9%

1 YA 9 3 gEefam

femrera gt &1 €@ NAPCC W U @ 2
SeraTg_ufadd W I FH 2 iy sreiferfia &-
m TP oK finm —

m i St @ % foe afa e )
B R faw w g fiem 5
m I §a faym

m e femerdt oitftafas @7 3q o faem \

m 2Ra 9Ra 3q T faem -~

m SEEr] RadA 2 Wi 9 ) T frer




Identify the correct sequence in increasing
order of the carbon content per unit mass of
the following reservoirs of carbon in terrestrial

environment

TS AU o ehiald o fAefeiad WeErt
@& Yier ST FoaUT i dra- W & d@d U
U T W& gy fafga i

1. Plants/drer

2. Peat/qiw (die)
3. Soil organic matter/JeT & hrai-eh Uarel

4. Fossil fuels/Sfraryw gera

Choose the correct answer from the options
given below

e fau o farmedt o @ W 39T g
(a) 2,1,3,4 (b) 1,3,2,4
(c) 2,3,4,1 (d) 2,1,4,3

UGC NTA NET JRF June 2020 (30 Sept.) Shift-II




ld“entify thg correct sequence in increasingl '?ﬂf’?ﬂ : ‘ .EI' ﬂ
order of the carbon content per unit mass of Ans. (a) e ﬁ %Q‘TE W% %gﬁ
the following reservoirs of carbon in terrestrial 37m"|'$f SO 3 FET A & aaﬁ T LECL
environment | “

.~ o U <Y< <

1. Plants/ﬁﬁﬁ g

2. Peat/uid (diT)
3. Soil organic matter/JeT & Em'lﬁﬁ'm" uered

4. Fossil fuels/sframym Fer=

Choose the correct answer from the options
given below

et fow Tu ferredt # ¥ wE IWE
e 2,1,3,4 (b) 1,3,2,4
(c) 2,3,4,1 (d) 2,1,4,3

UGC NTA NET JRF June 2020 (30 Sept.) Shift-11




Statement/&A (I) : Long stretchers of major
rivers of India have very low Biochemical Oxygen
Demand (BOD) values/SRd &l Y@ Afedi & ol
g@el § SiouEfas  sfedieH mi (FErhihead
sHdio feute (& =1 <) F1 9 T8 F9 @ 2
Statement/&AT (II) : In rivers oxygen is added
into water by diffusion from air due to its turbulent
mdrapidﬂowﬁﬁﬁ%@aﬁiﬁﬁm%maﬂ
& fomur § 3°d 9o ¥ 3fador i s 2|

In the light of the above statements, choose the

most appropriate answer from the options
given below :

Juv W % e § Preifes fawed §

W waifires Iugwh I I

(a) Both Statement I and Statement II are correct/
HI | 3R 11 a1 Tt 1

(b) Both Statement I and Statement II are

incorrect/&H4 1 31X 11 41 Fal 2|
(¢) Statement I 1s correct but Statement II 1s
incorrect/&94 | &l é ﬁhT:L F94 11 F&l =l %I
(d) Statement I 1s incorrect but Statement II 1s
correct/®HaA | el &l @ fohq a1 11 &l 21
UGC NTA NET JRF June 2020 (5 Nov.) Shift-I



Statement/&dT (I) : Long stretchers of major
rivers of India have very low Biochemical Oxygen
Demand (BOD) values/9Rd &1 ¥q@ Afedi & ol
gl #§ SougEtia edis| A (Tt
stfor fewmte (@ 31t €f) & W agd &9 g 2|
Statement/&&= (II) : In rivers oxygen is added
into water by diffusion from air due to its turbulent
andrapidﬂowﬁﬁﬁ%@aﬁ'{ﬁﬁmaiwaq
& foww ¥ 3% 9@ # i o s 2

In the light of the above statements, choose the

most appropriate answer from the options
given below :

Wi HOA % ot § Rrerifee e

¥ waiire Iugeh I oI

(a) Both Statement I and Statement Il are correct/
9 1 311 341 91 2

(b) Both Statement I and Statement II are
incorrect/HI9 1 3 11 24T F&1 |

(c) Statement I 1s correct but Statement II is
incorrect/H4 | T8l 2 ﬁn_g[, FU 11 T T 2

(d) Statement I is incorrect but Statement II is
correct/FaA | Tl 7l ¢ fobqg Fo 11 && 21

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I

Ans. (d) : 9RT 1 9@ A & Ul 3 GE W 8
el SauEafd s 5 & 59 98d &9 8, 7 f#
3 QUEl & R | Fud SGHV A 4 & 2018
T e & FER, 9Rd § wafid A @vel @ Hem
T3 351 @1 T &1 3 FU [ Ga T 2




'Solar Water Still is a device used for which of
the following,

Fhﬁt'amﬁzar U U §, TRt Iuam
ﬁnﬁf@aﬁﬁhﬁeﬁ'&ﬁﬂmm%‘)

Produce g?table water by using solar energy/

I 20 U9 S & IS H
% fer |

(b) Pump water by using solar energy/?ﬁ'{ A &
ITA g0 S & T i & feru )

(c) Generate electricity by using solar energyfFﬁ'{
F9 & YA N fagd 3 & & feru

(d) Produce heat using solar energy/lﬁ'{ T &
JUGNT GRT ST 30~ i & feru |

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I
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'Solar Water Still is a device used for which of |Ang, (a) : TR aR% fed & 35 ¢ foran 3w

the following. R T & 39N g0 W 99 3 IR & F (ol o
ﬁmmﬁzﬁ T R &, o S | e o o e 9 8 e

freferfige & @ foraeh ferar feman e &7

duce %otable water by using solar energy/
/0 YA ZR UG § H I B
% fou|

(b) Pump water by using solar energyﬂﬁ'{ Tl &
JUGNT ZI0 9 T A & feru

(¢) Generate electricity by using solar energy/ﬁ’h
ol o ITANT g o IeeH & & for NS

(d) Produce heat using solar energy/‘v'ﬁ'{ T & | Gosy Notes & .. E
3T ZRT FT I F & for| e »

UGC NTA NET JRF June 2020 (5 Nov.) Shift-I




Assertionfalﬁiaiai“ (A) : Global warming

potential of a molecule of a greenhouse gas over
different time spans of decades to 100 years may
vary sngmﬁcantly/??‘lﬁh:f g &t 100 | 3TATT-
e gHAaudl # A9 gy W & U] & dfas

a9 & gfg & &Y eqmar & Hrd 3iaT 81 ST 2|
Reason/d<h (R) : Some greenhouse gases have
shorter life times compared to carbon dioxide/&$=

ey 19 &1 Siaasid FHEa S13 3MFaEsS i
=T § &9 gar 2 |

In the light of the above statements, choose the
most appropriate answer from the options
given below :

Iudh HaET ¥ o § Prifea famwedt §
& watfos Iag=h SO 94 :
(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 31X (R) ]
& 2 3R (R), (A) T T&1 =T 2|
(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)/(A) 3R (R) a1

&l 2 9 (R), (A) & T& =ARaAT 81 21

(c) (A) is correct but (R) is not correct/(A) Hal g
9= (R) F&1 =dl 2|

(d) (A) is not correct but (R) is correct/(A) Hal
€ 2 9% (R) T 21

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1




Assertionfalﬁlaiﬂi‘ (A) : Global warming

potential of a molecule of a greenhouse gas over
different time spans of decades to 100 years may
vary sngnlﬁcantlyﬂ?ﬂaﬁ T AR 100 | o 3AT-

e THAiauel § HiF g8 9 & qv] & dfgsw
ara ¥ gfg H i amar § H A T GehdT 2
Reason/deh (R) : Some greenhouse gases have
shorter life times compared to carbon dioxide/$s
fe=E 1€l &1 Sfiaqasra FE4 13 iFaEes &
der-T | &9 grar 2|

In the light of the above statements, choose the
most appropriate answer from the options
given below :

Iudh HUET ¥ s O Pt famedt &
¥ waifrs IugTh 3T I
(\a)/ﬁ)th (A) and (R) are correct and (R) 1s the

correct explanation of (A)/(A) 3R (R) &l
TE 2 3T (R), (A) T TE_=AR=AT 21
(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)/(A) AR (R) a1

T @ 9% (R), (A) F T&1 AR & 21

(¢) (A) is correct but (R) is not correct/(A) &l g
9= (R) TE = 2|

(d) (A) is not correct but (R) is correct/(A) H&l
& 2 9 (R) T 21

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1

g e 2

/
Ans/(a) : XH H T 100 a9 & FAAI-FHAT
qAiaUel § 9 g9 19 & 3] &t dfgs am | 3fg
& H Al H HE FR & Ghal & Fiih FB A
gISq 4l &1 Sahrel Hed e e H e
& Bl 21 (A) FRX (R) 2 T & 3R (R), (A)

X

A9 3139 9
Fed B2 AfFaEeS

ECE

qArEed AFHEeS

FATdHd T8
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ARWpE

Given below are some metals which are
released into environment from a variety of
anthropogenic sources. Identify the metals
which have been of serious concern from the
point of view of pollution of water bodies

o o argeli & Aw faw g € N o=
UhiT o HEESTad Edl o gdiealur § Iaafstda
feram sTaT 81 39 uTgsil i Uge ehiteg S
TATITAT o WEHUT o IIEehioT & ahret Tesfiv
for=ar =1 fawa @ )

Aluminiumfa\ﬂtﬁﬁw

Copper/daiat

Mercury/4mT

Cadmium/Feaag

Lead/3trom

Choose the correct answer from the options
given below:

e fea = fasweat @ ¥ 9 9 g
(a) 2,3,5only/shdd 2,3, 5
(b) 1,2,3,50nly/&ad 1,2,3,5
(¢) 3,4,5only/&Hdad 3,4, 5
(d) 1,2,5only/shad 1,2, 5
UGC NTA NET JRF June 2020 (17 Oct.) Shift-I1




N

Given below are some metals which are
released into environment from a variety of
anthropogenic sources. Identify the metals
which have been of serious concern from the
point of view of pollution of water bodies

ot Fo urgett & AW Rw ¥ N o
Y& & WHaS-d Sl ¥ gaiewur § Ieafstd
femar ST §1 39 angen @ UgE @itw o
TSl & YIHUT & IR W et wefiv
o= =1 fawar w® €

Aluminiumfli?g:l:ﬂﬁw

Copper/drar

Mercury/diT -/

Cadmium/&efraw ./

Lead/9from ~

Choose the correct answer from the options
given below:

T el 6 8w s
(a) 2, 3,50nly/%?ﬁ 2,3,5

(b) 1,2,3, 5 only/&ad 1,2, 3
() 3.4 5 only/dd 3. 4.
(d) 1,2, 5 only/&ad 1,2, 5

UGC NTA NET JRF June 2020 (17 Oct.) Shift-I1

Ans. () : W%W%Wﬁw mﬂﬂ
s v a iR fo & fov @1 2 ol aee
SR & aa &l 9 gata & It fEe o )

m—
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Identify the correct sequence in decreasing
order of the carbon content per unit mass of
the following carbon reservoirs in the aquatic
environment of oceans.

WETANHT & WAt araratur | are WUSK el
frafefaa yfa tee seaw= o @Ee unen &
el Ted A il U ahlfortl

A. Sediments /AeToe ( HEHEH )

B. Living organisms/ﬁﬁﬂ-ﬁ

C. Dissolved organic matter/gﬁ U Sfae uerd

D. Dissolved inorganic matter

ol gU 3rifae uare

Choose the correct answer from the options
given below.

ﬁ%ﬁ'&ﬁmﬁuﬁmqﬁw
(a) D, A, B, C (b) A.D,C.B
(c) B,C,A,D (d) C.B,A.D

UGC NTA NET JRF June 2020 (1 Oct.) Shift-11




Identify the correct sequence in decreasing
order of the carbon content per unit mass of
the following carbon reservoirs in the aquatic
environment of oceans.

TETETRT & Foltd arareaiur ¥ &ie= WUeH i
frafafea yfe tee Foawe o @6 wen &
el Ted A il U ahlfortl

A. Sediments/qeTe ( HEWeH)

B. Living organisms/ﬁﬂﬂ-ﬁ

C. Dissolved organic matter/9 gU ok ugre

D. Dissolved inorganic matter

Tt U 3Tfach e

Choose the correct answer from the options
given below.

ﬁ%ﬂ'&ﬁﬁmﬁuﬁmgﬁm
(a) D, A, B, C (b) A,D,C,B,/
(¢c) B,C,A,D (d) C,B,A,D

UGC NTA NET JRF June 2020 (1 Oct.) Shift-11

Ans. (b): A, D, C, B
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In Photo Voltaic system (PV-system) arrange
the following form smallest to the largest unit

yal-favaar gomeft  (d dft-fimew) W,
frfefiga @ wad Bt ¥ waw agi 3o &
U | TS

(A) Module/Aigga

(B) Array/"@

(C) Solar cell/AR Ha

(D) Array field/TX &

Choose the correct answer from the options
given below :

ot fed T et § W T g

(a) (B), (D), (A),(C)  (b) (B), (D), (C),(A)
(c) (C),(B),(D),(A) (d) (C),(A),(B), (D)
UGC NTA NET JRF June 2020 (5 Nov.) Shift-1I




In Photo Voltaic system (PV-system) arrange
the following form smallest to the Iargest unit

yael-favaar yuett (f dfi-finegm) ¥,

U | TS

(A) Module/aiega v~
Array/"@ v

(C) Solar cell/@R Td__ \/

(D) Array fi eldf@ @i

Choose the correct answer from the options
given below :

ot fed T Pt § W T SR

(a) (B), (D), (A),(C)  (b) (B),(D),(C),(A)
(¢) (C),(B), (D), (A) ~4d) (C), (A),(B), (D)

UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

Ans.(d):m-ﬁﬂaﬂlm?ﬁﬁ,ﬁmﬁmﬂﬂ
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Assertion/3TTT&AT (A) : It is crucial to sustain
Himalayan ecosystem/fearadi wids &t &m&Em
TG 37 Heedyul & |
Reason/d& (R) : Himalayan ecosystem is home
to a number of indigenous species/FATEET qRAL
Hs @Yl it &1 o 2|

In the light of the above two statements choose
the correct option.

IUUTH aF HAAT oh ATl |, WEl faehed If-a:

(a) Both (A) and (R) are true and (R) i1s the
correct explanation of (A)/(A) R (R) arAt
T @ 3 (R), (A) F1 T& =AW= 2|

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/(A) (R) GE]|
T 2 3R (R), (A) 1 TEl AR & 2|

(c) (A) is true but (R) is false/(A) &l 2, TG (R)
TeAd 2|

(d) (A) 1s false but (R) is true/(A) Ted 2, 9l
(R) §& 21

UGC NTA NET JRF June 2020 (13 Nov.) Shift-1




A%s'erti.ohlalﬁﬁ-‘.m (A) : Itis (;l;%:l t%sustain Ans. (b) : feureg oiftd F FEY EeCEl Fad s—gﬁ:]-q
TH{;Q‘?‘?F;.‘;’ g&ﬁ‘%‘l‘”'a e PN ) |omavad T 2 fF @ oWE w@edlt SAefd & W3
Reason/d@ (R) : Himalayan ecosystem is home e .3 EII;[{ 'af[ W % ﬁ; RAEE i u sfta-
to a number of indigenous species/f@aTedl wRda G'ﬂaﬁ F IS FAfad B T G F 2 (A) I

T @R S & W 2 (R) 2 T 2 3 (R), (A) 3 & e 76 2|

In the light of the above two statements choose
the correct option.

IUTTH 2 HAAT o AT |, et fawmen i

(a) Both (A) and (R) are true and (R) i1s the
correct explanation of (A)/(A) AR (R) e
Té 8 3 (R), (A) F TE =@ 2

\yBoth (A) and (R) are true and (I;%_{is not the
correct explanation of (A)/(A) (R) i

TE 2 3R (R), (A) B T A 4L 2
(¢) (A)is true but (R) is false/(A) T&t 2, T (R)
TAd 21
(d) (A) is false but (R) is true/(A) Ted &, T
(R) &t 21
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I




Which of the following statements represents
mangrove characteristics as a safety hedge?
ﬁlﬂ%-lf@?l' " W -9 HAT FHod-aTedid i
%ﬁﬁrﬂﬂnﬁaﬁwﬁiﬁamﬁuﬁrﬁm m"L\g/
5
(a) The mangrove trees are tall with dense
canopies/H-aTefd arcdt gu1 vl 3R AR
gl 2|
(b) The mangrove tree provide both food and
medicines/FS-afd ard gu § @WII-a&qu.
3T Zard e Bt &)
(¢) The mangrove swamps separate the human
settlement from the sea/&Hes-aaHq(did Tiaet
ndrg fRay & 99z ¥ s1e #d 2
(d) The mangrove trees protect vulnerable
coastlines as they hold soil together/&=s-

gEfd drel g8 el de@I # G FH §
i a gt & Sga W 2|
UGC NTA NET JRF June 2020 (12 Nov.) Shift-I



Which of the following statements represents

mangrove characteristics as a safety hedge?

ﬁn:r%rfa?r H | RIA-UT HAT FHod-a=4edid i

?ﬁ'ﬂﬂnﬁ ST G B & ®U | Wlafsfaa @

?

(a) The mangrove trees are tall with dense
canopies/&He-aa8dfd alc g4 o AR BATR
g &

(b) The mangrove tree provide both food and
medicines/®HS-aEafd alel g&7 H WI-TEU
3 ZaTd W g €|

(c) The mangrove swamps separate the human
settlement from the sea/He-a&qfdid Seidel

adr e & 99g 37 #d 2|

(d),The mangrove trees protect vulnerable
\/ coastlines as they hold soil together/&=s-

gaefa aret ge qeansi & & &
mﬁﬁ@ﬁ%?@ﬁ%’i =

UGC NTA NET JRF June 2020 (12 Nov.) Shift-1




Which of the following statements about the

Volatile Organic Compounds (VOCs) are
correct? T

aryfier S difttes (& = ) & o

Profofes § @ S-2 Fa aft §2

(i) They cause acid rain/3eht asig & 0T
aut gt g

(i) They may cause cancer/3aht ag & &Hav
& TahdT &

(iii) They play an important role _in the
formation of photochemical smog/a Yh1IT

TEEte gu-dEa (wWir) @ T
Wgeagut ftrent fara €

Select the correct answer from the options

iven below:
%ﬁ%ﬁ&mﬁmmﬁmw
T ST :

(a) (i) and (ii)/(i) 3T (ii)

(b) (ii) and (iii)/(ii) 37 (iii)

(¢) (i) and (iii)/(i) 3 (iii)

(d) (i), (ii) and (iii)/(i), (ii) 3 (iii)
UGC NTA NET JRF June 2020 (12 Nov.) Shift-1




Which of the following statements about the
Volatile Organic Compounds (VOCs) are
correct?

arqyfter Sra difres (df o dt) & aw o
frafafaa & @ S9-9 %99 98 87
(i) They cause acid rain/3eh avig & 30T
gt gt g
\(ii)/’l’fey may cause cancer/3-Tehl TIE T &
& TehaT E

(i) They play an important role in the
formation of photochemical smog/a' WehTIT

THEte gu-Fen (@Wir) & famie
Tgeaqut WitreRt T §1

Select the correct answer from the options

iven below:
%‘rr:rf%!ﬁgﬁ ﬁ ¥ walfues Iugwh fawca @t

(a) (1) and (11);’(1) 3ﬁT(n)

(b) (ii) and (iii)/(ii) 3 (iii) \/

(¢) (i) and (iii)/(i) 3 (iii)

(d) (i), (ii) and (iii)/(i), (ii) 3T (iii)
UGC NTA NET JRF June 2020 (12 Nov.) Shift-I

Ans. (b) : aSTYet Sfa Aifes (ft.3m.dh.) & a9 § HW

g T 2 aﬁmﬁa ﬁﬁm%}%ﬁﬂhﬁ

Rl s e @ 7a iz

el TR, W@%m 3R DTS e |
7 7 = -
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Sick Building Syndrome SBS) is a condition.

foe fafegn fagm (wa o ww) frifea o

w-4t farf &7

(a) When building are very old an about to
collapse/5d AT aEd WM @ AR AN
fire are @

(b) Of human health due to indoor air pollution/
FTEN 919 JGuUI & T g e & feefd
(¢) Of fear due to deserted building/tlﬁafﬁ FHIA
& H0 97 & fefy
(d) Of building devoid of any modern amenities/
g glawnsd ¥ Ted surd it fafy
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I




Sick Building Syndrome SBS) is a condition.
fae fafegn figm (ww o w) faifea ®
dA-4 feafa 27
(a) When building are very old an about to
collapse/5d 3T aEd WM 2 R T
iRt ot @
\Qf{ Of human health due to indoor air pollution/
STSI a1 GV o R Ad @ & fefd
(c) Of fear due to deserted building/ TR A
& Fu g & fefa
(d) Of building devoid of any modern amenities/
e faenat 9 ded guwa & fefd
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I
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“ . -

List/=-1

Stages of value

List/=-11

Exemplification of value

development formation
. Stage I - Value | 1. Choosing and
collection/=¥UT imbiding the wvalues

Tah-Wod HOaur

one cherishes/ TerdT
==afvs o Wodl  @hl
= =T aiT ==
STTHATT HIAT

. Stage Il - Value
assessment/ALAT

a-Tod godich

Observing and
imitating the adult
behaviours,
particularly

parents

favtaesy wrar-fuaar &6
STIeRl Rl O80T Sh{AT

3T ITeRT I TgSIOT
/AT

Hrer fou T fosmeat @ @ WE IO @ wIA &
A B C D
(a) 1 4 3 2
(b) 4 3 2 |
(¢) 2 I 4 3
(d) 4 2 I 4
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1

. Stage 111 - Value
clarification/=%¥
uT dra-ge
[agieRIuT

Predictability of
human behaviour is
assured/ AT SAdalt
= = 1 e - 3 araT
SHearaar gifataa
ahTAT

Stage IV -
Value
Consolidation/=t

JuT =g
E=p-r- =

Finding out gaps in
values preached and
practice/3 ‘lilﬁi’l'
et TugeT fa=m ST
/T B AT IT oAl
51 uT amaer feear =
I&T &, § 39T =41

RS
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List/=-11

Exemplification of value

List/=-1

Stages of value

Hrer fou T fosmeat @ @ WE IO @ wIA &

development formation A B £ D
A. Stage I - Value | 1. Choosing and

one cherishes/ TerdT
= =T aiT ==
STTHATT HIAT

Tah-Wod HOaur

(b) 4 3 2 |
(¢) 2 | 4 3
(d) 4 2 I 4

B. St 1 - Val 2. Observi d . .
assessment/SUT | imitating  the adalt UGC NTA NET JRF June 2020 (24 Sept.) Shift-I
S-"Uod godichT behaviours, ‘ '

particularly / . .
parents AE (c) %
Faror o ' I a1l
ARl aht HTAT g 5
A SFEET g A. T UE-ge e | | 2. aFmnt favme wer-fyan
C. Stage 111 - Value | 3. Predictability of - — Eﬁ T S S
oT = (5> assured/ ATHaG STd&alt = -
herraar gtz STEHT
AT _ 3 g foa suew
D. v Stage IV - | 4. Finding out gaps in e A1 @I ﬁ P
alue values preached and o =
Consolidation/=t¥ practice/3= et el B L GRET]
<y - S=ent Suger fe=r = ST T A, H SIE S
T @ & 3 3T gear Wmiﬁﬁ'ﬂﬁr_
== a3 zmme feRar = :
& &, |# 3fE == | YA AT el




Td TATeR Ade wad (I fafee)
(i) AT Ffl F1 I A 2
(ii) 3T i & |
(i) T v 90 %) @ & 3 9\‘\
(iv) SIHfo ST 1 G FH 2 =
(v) T Hfaq & fow e g & 2
ﬁﬁquamﬁﬂuﬁmqﬁq—
(a) (i), (if) 3 (i) ) (i), (iv) 3R (v)
(¢) (i), (iii) 3 (v) ( ) (i), (iv) 3 (v)
UGC NTA NET 2019 Shift-I (3.12.2019) Set-3




e Tt e wad (f fafe)
NGk Ekioukakd

(if) 3y gfve & &

(111) a@ﬂﬂﬁﬂiﬁlﬁﬂﬁ@ﬂﬁmél

(v TIHfee Tl 1 TR 3 2|
\(y/awsﬂaq%ﬁmwgﬁmmm

Frer faw o formreut o ® W I
() (i), (if) 3 (i) () (i), (iv) aﬂl (v)

(¢) (i), (iil) FR (v)  (d) (i), (iv) AR (V)
UGC NTA NET 2019 Shift-1I (3.12.2019) Set-3

Ans. (b) : 7Ed gU YU & qX I H FF F & [oIC
gia 9aa srauron (@9 fafegn d9w) w SR faar =
W@ 2| TE YGUU % G F FHP! §a A & (6T
b 8, ae 399 fasiell-url & &7 @ &H I9Em adr
YU &9 B § ff 3HE 9o dgd @ INfE oA S
@ 21 39 Feu FER 3R yefas smuensd § s
& off HOR 3 &1 UH " § AU F0a 10°C
9% A9 F F R S GE@ 21 FW fafeem @
fraferfigd wae € st vafawn & fau e 8-

|. I =gAa9 ol 3wA & fagra W amafiid |

2. o GEEAT & HEOT W SR AT 2

3. @ Sfigq & fou e gear Fua 2|

4, a9 R 3o & fou smg-um adl d@en o ug-

qTe o7 B & |
5. Fg @ ardd Al @ 39 3R WeP gal & o fasel

3R 31 Gl F S5 §9 9 9 HT vl 2
~ b e W —~ -

i~




" 3TTeTTITE Tk FATell @l Ta9TaT 2t el
(a) UNHI H 3T TR
(b) TSI H HIE -
(c) TSI & fam TR d~
(d) Sfas geraf &1 3= W
UGC NTA NET/JRF Shift- I, Set-01 June 2019




 nfergiitea: 3iet et faoradT gt ¢l
(a) TS F I W

DR LEEELE

(c) TG & e W

(d) Sfas veel &1 3 W

Ans : @)/gﬁméssﬁa‘lésm TS S T A R
fafguar art st 21 fe off uwe frafg s wgfus
m%mmﬁméﬁﬁﬁmmm%—

1. 379 qifyd (Oligotrophic) (hH ﬁﬂ&?) B

2. 3fd 9If¥d (Eutroptic) (W9 919) el

3. #eg UIf§d (Mesotrophic) (3 T 9mveh) el

T Uifyd a1 Sifemeithe 3iel @A Bl &, UINuT & "8 -
Eﬁ?ﬂé, ‘156'1?]” Rl ﬂéﬂ%ﬁ?ﬂ N E;syNotes4u .
3 el 0 uNs favm w9 ¥ ARgeE, WERRy 3R | online Study l
Frath gerd F9 Bd &1 37 Al i aAfrs IEwHar o 2
gl 21 T U 9 At Sl Sfal @ e F9 8, i

gt 399 fa fafayar saer 21

= L3 =



Assertion (A): Climate change is goint to
increase social tension in
India.

Reason (R) : The frequency and intensity of the
extreme weather events will have
serious consequences for food
Security.

AFTHAT (A): FeraTg uRadT wRa ¥ wraTfie
TaTa FSTEMN

< (R): oran &t = frafa &t smafa
AR dmar w1 @ geen uw
TrefiT wwTE a=Im
(a) Both (A) and (R) are true, and (R) 1s the
correct explanatmn of (A)
(A) 3R (R) 2F1 Tl 2 3R (R), (A) & Fel
=RSAT 21

(b) Both (A) and (R) are true, and (R) 1s not the
correct explanatmn uf{A}

(A) 3R (R) a4l F& @ Wq (R), (A) &1 T
AT T8 2
(c) (A) is true, but (r) is false.
(A) @&t 2, fdHqRr) e 21
(d) (A) is false, but (R) is true.
(A) Tera 2, fohg (R) 9@ €1
UGC NTA NET/JRF Shift - 1, set-7 21 Dec 2018




Assertion (A): plimate chan_ge is ga_:-int En Ans (ﬂ) . T ﬁ L ﬁ:g]ﬁ Eﬁ]’ 3:{@'[%] a4d1 f-ﬂaa]' &l

increase social tension In

India. q'ﬁu'[rq' 3 )W m]qﬁ{ ﬂﬁq@' 3]'[1%{ ﬁm‘[ﬁ'{ﬁ
Reason (R) : The frequency and intensity of the g | &
extreme weather events will have % S 9 W 113 AUd ¥91d REGI %I
f food ‘I{E.:ﬂ' m perct —ﬁﬁq a0 799 aedl m
;?::::-llstv consequences for foo a ff g

FFUHTT (A): Teag gilad" 9a § WA Waﬁwwmﬁﬁglﬁw
T qRadd SR § SIS a9 FeR 3 (A)

A (R): oraw @ =ww frufa =t smafa ﬁﬂ(R)ﬁﬂ?EﬁT{R),(A)ﬁﬂﬁwgl

i dfigar w1 @ gienm uw

TiefiT g g=Tm

\Voth (A) and (R) are true, and (R) 1s the
correct explanatmn of (A)

(A) 3R (R) 2F1 Tl 2 3R (R), (A) & Fel

T 2

(b) Both (A) and (R) are true, and (R) 1s not the
correct explanatmn of (A)

(A) 3R (R) aHl Gd 2 9d (R), (A) & G&l =
=S T8 2 X

(¢) (A)is true, but (r) is false. Easy Notes du g3
(A) T8t 2, fadq(R) TEa 21 Online Study k-

(d) (A) is false, but (R) is true.
(A) e 2, fg (R) 98t 21
UGC NTA NET/JRF Shift - 1, set-7 21 Dec 2018




Plants suitable for biomonitoring of Sulphurl
Dioxide pollution are/®ethT guu

i da- e foy e e
(a) White pine, moss and lichens

vai ZaeR, T 3 VA
(b) Tomato and lettuce/ZFT2T 31T TeR Ha

(¢) TUbﬂLCO grapes and ga gqrden bean
T, 3 AR am

(d) Apricot, peach and gladiolus
uvae (FGe), g 3 eifeae

UGC NTANET/JRF Shlft [, set-7 21 Dec 2018

—



Plants suitable for biomonitoring of Sulphur |An ( 2) : T SEHHITES (%O ) W{H“T B G-

Dioxide pollution are/SeWhHT YSEUT | oo e TP WY vaq SaeR, &% qd1 A 2

@t a- ARt o fore 3weeh arew 2- T T @@mmmﬁm@ﬁmmﬁ
\)4)/ White pine, moss and lichens W AT g TG - from, #,_#,

i SR, 7 R g, e e T
(b) Tomato and lettuce/ZHIET H TaaR Toof] =~ s _
(c) Tobacco grapes and garden bean s
g, 3 SR A su

(d) Aprlcot peach and gladiolus
ufyEie (e, g 3R ey

UGC NTA NET/JRF Shlft 1, set-7 21 Dec 2018
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Assertion (A): Hails damage the standing
crops.

Reason (R): In India, hails occur only
during the winter season.

AfaHTT (R): NG | T g3 wHA T8

gt
& (R): UNA ¥ AT FHael e &
e o gt 81
(a) Both (A) and (R) are true and (R) 1s the
correct. . ‘
(A) 3R (R) &Fl & @ 3R (R), (A) &1 G
AT 2|
(b) Both (A) and (R) are true, and (R) 1s not a
correct.

(A) 3R (R) @ T& & W (R), (A) FT &
AT TE 2|
(¢) (A) 1s true but (R) 1s false.
(A) & 2, fg (R) T 2|
(d) (A) 1s falsg but (R) 1s true
(A) Ted 2, fhd (R) 9@ 21

UGC NTA NET/JRF Shift - 1, set-5 20 Dec 2018



Assertion (A): Hails damage the standing
crops.

Reason (R): In India, hails occur only
during the winter season.
ATHAT (R): | ol g3 wEA AE
Veadin T
& (R): UHA ¥ AT FHaed e &
drew # gt ¥ —

(a) Both (A) and (R) are true and (R) 1s the
correct.
(A) 3R (R) &Fl & @ 3R (R), (A) &1 G
HTEAT |

(b) Both (A) and (R) are true, and (R) 1s not a
correct.

(A) R (R) AT W& & W (R), (A) # T
el 2|
C) (A) s true but (R) 1s false.
(A) Tl 2, fohg (R) Tcid 2|
(d) (A) 1s false but (R) 1s true
(A) Ted &, fhg (R) & 21
UGC NTA NET/JRF Shift - 1, set-5 20 Dec lﬂlsl

ﬁa@@ﬁﬁéﬁalwqmwm%‘eﬁm%
fopedt of srawen § @A gaifus yuifad <ar 21 et
& I Mars § 3 0“3aﬁamaﬁwﬁmmfr%m




The dominant source of pollution due to oxides

of nitrogen (NOy) in uryan areas is
ot @%ﬂ:@mmmog%m

y & Y@ Eid 8
road transport /9g% URdgA
(b) commercial sector /avTfSges &=

(c) energy use In industry/'o'%fl'lﬁ 4 Sqth £ |
(d) power plants/9TaR wAE

UGC NET/JRF 22 Jgn 2017 i




The dominant source of pollution due to oxides
of nitg}gn (NOy) in urban areas is

I ATaETEEHE (NOy) & ST
TGET T JHE HI §
(a) road transport /9g& U@
(b) commercial sector /aMvISa® &=
(c) energy use In industryf3ﬁ|7ﬁ o qTh £
(d) power plants/9TaR @i
UGC NET/JRF 22 Jan 2017

ST URagA : AR2OA & AFERES & 3
)3 TG & g 9 a8l 599 & YRR #
m%aﬁaw%waaﬁﬁﬁﬁ

afd & I ¢, o9 Agel § A, {rhmﬁﬁrﬁ'm ca 3 g
a'-)th?:; &l %ﬂ'{ 3:[|fa| /i Easy Notes 4u

S

Online Study % ¥




Which of the following best describes the
mechanism of the greenhouse effect in earth’s

atmosphere?/fF=faiitaas § ¥ @ geit &
agusea ¥ WA-ged ywra @ fwartarer @
Taifires IUTh < | ITdr &7

(a)

(b)

(c)

(d)

Cosmic radiation from the space is absorbed
by gases in the atmosphere. / 3HI¥I T
HHae Ffws oo #i agded @ T4
EENILCIETG I

Ultraviolet radiation from the sun is absorbed

by Ozone layer in the stratosphere. / G4 ¥
W At qU-aT fafewr @ gnadea |

TS 3ETNTST T 2|

Infrared radiation from earth's surface is
absorbed by gases in the atmosphere. /%1
' TAE ¥ IOTH AT F agHed H w9
STaIfed FTr 2 |

Gamma radiation from the sun is absorbed at
ground level by dust particles in the

atmosphere. / gd § A aret mr fafeor &
agFed # gd FUi A gE H TR W
HAVNTod e 2|

UGC NET/JRF Shift - 2, set-10 22 Dec 20]8.




o T e i, Dot et e, |[Ans TV F 3 & ww v s Pl g
atmosphere?/ffeiflaa ¥ ¥ & gzl & Wﬂﬁ%ﬁl‘{?ﬁﬁaﬂwﬁﬁaﬁﬁﬁmﬁaﬁﬁaﬁq
argrze ¥ f-gew ywa @ Beetafr @ ||STe qd @ arqmuee # 6 g sravifid & oo S 8
waifrs U 3 N i ¥ forad gt & arguved # ga fafaod @ sfvsa @ =
(a) Cosmic radiation from the space is absorbed EC ﬁ’Fﬁ a?r T f[ qﬁﬁ Tb"T GTIT‘?[ é EFﬁ'( _a ED Q'Q‘THTUT

by gases in the atmosphere. / 3B q " i
HHA Hfed fafEw & agEed F gfa wgard

Havifed Hedt 2

(b) Ultraviolet radiation from the sun 1s absorbed
by Ozone layer in the stratosphere. / 4 T
HH 9 WA A & gwaHed |

TSI IS HLar 2 |
ynfrared radiation from earth's surface 1is

absorbed by gases in the atmosphere. /3% /
# wrE A s AT B A d \ 7N
ST A 2 | ?

(d) Gamma radiation from the sun is absorbed at / - > |
ground level by dust particles in the / I
Easy Notes 4u J

atmosphere. / g4 | A ard T fafeter &
agHed # gd FON B el # R W
STavifed & 8|

Online Study oy “

UGC NET/JRF Shift - 2, set-10 22 Dec 2018



Assertion (A) : Environmental and social
impact assessments never overlap with each
other.

Reason (R) : Environmental and social impact
assessments are effectively opposite ends of
same spectrum

WHAUT (R) : gdiaofta iR amfses g
m@ﬁﬁm%ﬁvﬂam%l

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A).

(A)aﬂt (R) ST W& &, 3 (R), (A) FI T&t
T 2|

(b) Both (A) and (R) are true and (R) i1s not the
correct explanation of (A).

(A) 3R (R) FET T €, 3R (R), (A) F1 T
AT &l 2|
(c) (A) IS true, but (R) 1s false.
(A) T& 2, f51 (R) Taa 21
(d) (A) 1s false, but (R) is true.
(A) Tema 2, feg (R) T 21
UGC NET/JRF Shift - 8, set-1 21 Dec- 2018




Assertion (A) : Environmental and social
impact assessments never overlap with each
other.

AMTFHAT (A) : UFTawUia i Amfaes gwa
TR T T rgasit TE g

Reason (R) : Environmental and social impact
assessments are effectively opposite ends of
same spectrum.

FNUT (R) : UFiawwi i omfse  gumE
m@#@m%ﬁuﬂﬂmiu

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A).

(A) 3R (R) EHi T &, 3 (R), (A) 1 T
ANAT g1

(b) Both (A) and (R) are true and (R) 1s not the
correct explanation of (A).

(A) 3R (R) 31 & €, 3R (R), (A) F &
A e 2|
(c) (A) 1s true, but (R) 1s false.
(A) 9@ 2, f (R) e 21
(d) (A) is false, but (R) is true.
(A) Teid €, e (R) W@ 21
UGC NET/JRF Shift - 8, set-1 21 Dec- 2018

Ans. (d) : T30 3R AIfSE G99 e HA o
HoaSl A A § T A (A) Ted @ i
ieRuT & W 3R WIS Y9G 2 21 TaieRu 3R
U St ¢ a8 Uh-ge & e e g

%

Tafe Tafauiig 3R G S AheH U & Wagd

falid 3299 21 S0 (R) 9@ 2

Easy Notes 4u I ;
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Result of deforestation is:
TIHSTT T Uiy g
)
(a) Disturbance of natural balance/ﬂ@ﬁﬁ Hﬂﬂﬁ
&1 ferrg ST
(b) Extinction of medicinal plants /39&ig dreii

% foreifi

(c) Rain-cycle becomes irregular/@si-a@s% &l
sfafaa g sEn
(d) All of these/a4 T&!



. Result of deforestation is:

gaFe & gy B

(a) Disturbance of natural balance/ST&H{d e
&1 famrg ST

(b) Extinction of medicinal plants /3T gt

# forefta

(c) Rain-cycle becomes irregular/asi-g@s &l

gl S
(dY"All of these/TdT T&l

Ans. (d) : W0 Tqa & famg ST, S O &
faciftd, avf-os% & Afafid @ 991 o e @
oo &1 g ) i S Fer AHd ofafeE @
Y UROTY 8, S Sl bl daTg e 2|




.Which of the foliowing Zones are correctly.
matched with their permitted noise level units?

1. Industrial .......cocvveernnee 90 dB

2, Comereinl o nisnss 75 dB _—
3. Residential ........ccceeeeeenes Silence Zone

$ N cnnsiaann 55 dB

frafafge @ @ @F-T1 &9 ITaT 2EE IR

T SRRl & 9T Wl I W Wer @rar ¢/

1. 3frenfire ... 90 et

R 11521 > S g =
IR 2 A 55 gt v
(a) Only (1) and (2)/&ad (1) 3R (2) —

(b) Only (2) and (3)/3ad (2) 311 (3)
(c) Only (3)/&aa (3)
(d) None of the aboveﬂﬂ"i?ﬁ § 8



Which of the foliowing zones are correctly.

matched with their permitted noise level units?

1. Industrial ..o..eeeeeeeeeenens 90dB ¢

2. Commercial .ooeeververenen. 75 dB (,\/ P
B L] [ Silence Zone $%
S sconinicann 55 dB

frafafies & & SF-91 @ I FTET IR
W RIS o AT WET 3§ Wl @rar g7

1. 3fenfires ... 90 et

2. arforise ............. 75 Sralt

RJC: 1121 0> SO Tgeid A=

0 0 55 grat

(a) Only (1) and (2)/&ad (1) 3R (2)

(b) Only (2) and (3)/Fad (2) 3R (3)

(c) Only (3)/@d (3)

(d) None of the aboveﬂﬂ{{fﬁ 9 '

Aps.(d):mﬁmwwwmmé—

G 13 11 75 & off
111112 S 65 ot ot
A ... 55 &I df
AN qEag 99




Assessment of black carbon and its impact is
carried out by:

HTA AT T Todteha 3T FHaRT o ferdeh
BT feRa wrar 872

(a) DRDO (b) INCCA

(c) MoEF (d) ISRO



Assessment of black carbon and its impact is
carried out by:

T Ta T Yodic 3T g0ent vura feradh
g femar srar 872

(a) DRDO (b) INCCA/

(¢) MoEF (d) ISRO

Ans. (b) : STefarg URad gedidhd W ARATE 7 (Indian
Network on Climate Change Assesment - INCCA) &I
WA 9AEeU,_ad Ud Sadg 9Radd #arad i ay

2009 § & T8 o1 39 IqE Ievd f 2

1. Sarg 9iadd & foharas & g @ W 999 U
I fawfad FEn "

2. FA HEA F Gediwd IR gqH GOl

3. Fo@yg 9Radd W IFHYE ] e IHYE @
faenfad |

4. faoig gufda da &1 fawm 1 ~




In which year Bhopal gas tragedy occurred ?

aﬁwﬂumﬁﬁwﬁgﬁeﬂ?
(a) 1981 ¥ b) 1982 ¥
c) 1983 ¥ (d) 1984 1




In which year Bhopal gas tragedy occurred ?
W e et ferw o g3 off ?

(a) 1981 § (b) 1982 d

(c) 1983 | (d) 1984

Ans.(d):tﬂwfmma‘ig&gﬁm%aﬁa}ﬁmﬁm
%l agl g g, aaaw:aﬁum 1984§®wﬁ%
neq WS & USUHE diue § fm LGS
t’}ﬁaﬁﬁﬁmﬁ%ﬂﬁfﬂu(ﬁmmﬂmﬁz)%w
gan, ol g 3 e § A & geg & T ad agd
Hﬁz—ﬁnmmﬁmﬁmmﬁwméﬁﬂ
MEA A
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